A\\\\n
FISHBON Eé(%?s INSTALLATION INSTRUCTIONS
OFFROAD X8 PART No. FB213XX
7 it Ford/Toyota/Dodge/GMC/Chevy
Side Steps

Applicable to all the below Part#s

FB21373, FB21374, FB21375, FB21376

FB21377, FB21378, FB21379, FB21380

FB21381, FB21382, FB21383, FB21386
FB21387

VIDEO AVAILABLE

REQUIRED TOOLS KIT CONTAINS QTy
13mm Socket Side Step (Driver/Passenger) lea
Mounting Brackets 4-6
M8 Hex Bolts
M8 Washers

M8 Lock Washers
M8 Nyloc Nuts
Clip-on Nuts
Plastic Washers

2137400
990 W. PINE LAKE RD., SUITE 2, NORTH LIMA, OHIO 44452 330.423.6446 WWW.FISHBONEOFFROAD.COM



|
FISHBONE Y34\ INSTALLATION INSTRUCTIONS
OFFROAD (88  PART No. FB213XX
7) el Ford/Toyota/Dodge/GMC/Chevy
Side Steps
FORD/DODGE/TOYOTA
1) REMOVE EXISTING STEPS Install the plastic washers onto the factory step
Begin removing your vehicle’s existing steps, if studs.

applicable.

Each of the mounting brackets are marked to
2) INSTALL BRACKETS indicate its orientation.

Begin installing your mounting brackets. According
to which vehicle you have, they will be installed in
one of two ways: Ford, Dodge, and Toyota will share
the same method, and Chevy/GMC will install
DC PC

Driver Front
Driver Center
Driver Rear

Passenger Front
Passenger Center
Passenger Rear

Install the brackets in their designated location with
the included hardware with a 13mm socket.

2137400

990 W. PINE LAKE RD., SUITE 2, NORTH LIMA, OHIO 44452 330.423.6446 WWW.FISHBONEOFFROAD.COM



M\
ns INSTALLATION INSTRUCTIONS

e\
FWHBONE%%

OFFROAD {88 [PART No. FB213XX

Za™ Ford/Toyota/Dodge/GMC/Chevy

Side Steps

CHEVY/GMC Install the brackets according to their designated
If you either don’t have them, or you wish to replace location.

them, included with the hardware are clip on nuts.
Install them at the bottom and interior factory
locations at this time.

. 7
\ %

At the front of the vehicle on the passenger side,
install the included upper bracket and bolt plate onto
the vehicle, as shown, with a 13mm socket. Insert
the stud through the clip.

3) INSTALL THE STEP
Install the step by placing them on the brackets with
the remaining hardware with a 13mm socket.

2137400
990 W. PINE LAKE RD., SUITE 2, NORTH LIMA, OHIO 44452 330.423.6446 WWW.FISHBONEOFFROAD.COM



